
62.68 33000000 tlh1nr fuhd, puhpnSnprl /.{fr2hhullnr punrp, 40qp Nl/ 1Z^ omrb 5)2 14080 40
6 269 33000000 5|r4pnlnprnfrqnh /2ir4pn\nprnirqnh, 125 rJq 5r.it N1/ uFquq 1,270 50800 40
62.70 33000000 rh4Fnl{nprntrqnhlr rughnuur /2h4pn\npuhqntr, 0 5o/o 3 qp/ q2 ub oumo 826 16520 20
6.271 33000000 uutf qlrluru /huru:rfqlrpun, N 1 0/ q2 upqulU r66 4150 25

33000000 n4 /3n4, 5olo 30 rI1 Nl/ s2 22btl 231 34650 150
6-2.73 33000000

tu1.$ur-ppmilrqn{tuyhprupprfr \phf huphp, $hhnpurpp]rnur1
urhurhnthh rnrn /knnllurrnr. 25rfi Nl/ 22b\ 194 5820 30

6.2.74 33000000 uf\hpurilfra /trf\hpunflra, 25o/o 2 rll N10 \run+hnr.thb/ *L unqurll 122 3660 30
62.75 33000000 plnpuilSttrfr\n1 dhpfrlnLpurglrl AL DUNID 734 s1380 70
6.2.76 33000000 pfnpuld$hLhUnl /€1npu:riShhfr\n6 10olo 25qp Nt pump 677 24440 40
6.2.77 33000000 $an\u:lfhf hir4nnptnnh4 20lo 2 rll N10/ T4 unlluL 27 16200 600
6.2.78 33000000 rururpfrnuifr p1nFh4 / l0olo 400 rl1 / hum 530 53000 100
6 2 7 9 33000000 rUhnr2u4p[r uqfrpur, 30 ri1Nl/ g2 22H4 97 970 10
6 280 33000000 qpn\ulfLf hf4pnppplr4 /0 5olo 5rI1N10/ uFquU 53 42400 800
5 2 .81 33000000 qpn\ujfrLlr hfr4pnpppfra / 2olo2 rI1 N10/ q t uFquU 24 12000 500
6282 33000000 urpburpf qpntntlrhuru /Upbu:plr qpntnhfrhtutn, 2o/o 15 [t LnLb 231 4620 20
6 2.83 33000000 quulurqhphhh hfr4pnpppfr4 /'tlurquLlhpirh, 2o/o 2 rIt NLl/ uFquU 35 1750 50
6 .2U 33000000|hl,rurqnh(urLrnlruthnhh),r hqnhurrhtrSilr Nl ull,4l 990 3960
6.2 85 33000000fpuilf gtnlrhlr untl,Srun, qpurtflrgbabb,

lhpuullhpurqnl-r./Ungnrunhpu,turBhr5rfi N1/ 1L u'{urgl 2201 220r0 10
6.2.t36 33000000 Surlrnl /kpurhn I, 960/o 250 rlt/ 22b\ J J I I 15850 350
6287 33000000 nhtnpur\ru3frtrfr hlr4pnplnpfr4 |olo I 0rI1/ urlt& 4806 9612
6.2.88 33000000

phhuqnh, urhupur\rulrh (tnhurpur\urlrhir hfr4pnplnpf4),
rhnnn$nrnrur 5rlt/

u\utr2]l

bunhr
681 6810 ^U

6 289 33000000 hf upnSnrpul /$nrp.uolrl frL, / DUNLD 230 4600 20
6290 33000000 'Ilnrllr4nh punrp 1/- nnL+ 1800 18000 10
62,91 33000000 hnLQf$L 2 4olo 5rI1N10 udul 210 4200 20
6.2.92 33000000}]rpurqnl 1olo lrll Nl0 qZ urilul 30 6300 2r0
6.2.93 33000000 tlurqblr Unrl$uru 25olo 5rI1 urlu 50 500 10
6.2.94 330000009pubtrlr qhpopulr4 3olo qZ $r 120 7200 60
6.2.95 33000000Uh4ulr4n1 2rl1 N I 0 q , urrJul 390 1s600 40
62.96 33000000€ulrlnrihururqnl frL 0. I o/o I 0ml $r s80 11600 .2U

6 2 9 7 33000000lur\ru\urnurrlmplurh rlru\glrhur 1,0 SZ unrluh 6200 620000 100
6 2.98 33000000Ourgulugrlurh urtrururnpufrtr 1,0 YZ unquU 195 19500 100
6.2.99 33000000Ihhnpurpp]rnurt,tpht npnnrlhqnrl rut hnhurLurBBnt 50il q2 22ll) t739 104340 60
6.2.100 33000000 ttpururlhururqnh ullqmlu 85 425 5
62 101 33000000t uuplmrllr ptnFb4h lmbnrlp 0.9% q.t urilruntlru 380 19000 50

h1h\upunhluhfrlur1]r Atnp FhFnLd, ul4 pdDril
7 .1 32333200lShuurqpn4 uupphp trcu2 4Iruril 500000 s00000 I

8 Urlurnrihpttrurlfr Ltnp ptpnuf, urt4 prlnu.l
8 1 Urlurnrltphtlu s2 hun 10000000 10000000 I

9 79810000 2096500
9.1 79810000 tlhburhuruu\fr ullpntpunnp pd211ur\urh pruptn 7 ' huln 6 / r305000 15000
9.2 79810000 l{rfr rlurpriurtr urtfpnrlururnp pupu c2 hunn 20 13000 650
9.3 79810000 Purrl{ubp ullpnr-prurnp h}u.lurl4}r pd2lur\utr pu:nrnhq huln 2 24000 12000
9.4 79810000 3]runlnqfrur\uh hhururqnrnnrplurh A.htuBnqB 7 5 hrurn 3 900 300
t t 798r0000 lhu:pnqp ruplu:b uhnnlnqfrur\uh phhnrplurh nhqnru $ur\urnp l:

rnluh hnLrIE
7 t huur 2 1000 s00

9 6 79810000
,ltrupnrrlp urplub uhnnlnqfru\urtr pLrhmplurtr nhrlurr.nnir4 $ur\urnp
-r 3-nhurhurhil uu hurutL nlo huln 2 10000 5000

9.7 79810000 Qqurtrplr yupnpruurnp phhnr-plurtr d,hrupnulp hruu J 600 200
9.8 79810000 Uhqlr prpnpulnnp hhururqnrnnrplrutr d,trurBm4p tJL huru 2 24000 12000
9 9 79810000Punrlfr lurpnpuurnp htrnruqnrnnrplu:h Ahupnr-r1 p 7 ' huln 22 1 10000 5000
9.10 79810000Upguh !ftrhfr\ur\utr hhururqnurnrplurtr &trurpnr.lp v1 htuur 24000 12000
9 .11 79810000tlplurtr pfrnpfrtf huburh htr.nruqnnnrBlrutr &hurranr-nB 1 7 t hrurn 2 10000 5000
9.12 79810001 tlplub pf npfdflu\urh hhrnurqnr.nnrplurh Ahupnr_np 2 hurur 2 24000 12000
9.r3 79809999 lpuruhblur\ur1]rtr qfrpp ! n2ur lurqrlnrl /L urnrlurb/ 100 Bhnra CZ hunn 1500 75000 50
9.14 79810000 Qpruuttrjurl$ulfrh qlrpp \n2ur turqrlnrl /bu:nrlurb/ 150 BhnB hunn 1600 160000 100
9.15 79810000 $puuhblu.r\ur;]rtr qfrpp \n2rn \u:qrlnrl ft uprlu:b/ 200 pupp T > hrurn 1750 175000 100
9.16 79810000QpuruhL3u\rulfrh qfrpp \n2rn ! urqrlnrl /llurprlurE/ 300 phnp hurn 2800 140000 50

10 1 45261100 dlrhurpupu\rutr ru2luurururhphhp
I 4Fuld 7000000 7000000 1


